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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you begin to answer the questions.
This Booklet contains questions in English as well as in Hindi.

iz'uksa ds mÙkj nsus ls igys fuEufyf[kr vuqns'kksa dks è;ku ls i<+ ysaA
bl iqfLrdk esa iz'u vaxzsth rFkk fgUnh nksuksa esa fn;s x;s gSaA
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fu/kZfjr le; % 60 feuV vf/dre vad  % 75

Test Form No.

VsLV iQkWeZ laú
05 KD RRB ALP

RRB ALP CBT-I- 2 0 24
MOCK TEST PAPER - 05

6. Questions of  English Medium will be considered for evaluation

in case it differs in Hindi Medium.

7. Answers must be shown by completely blackening the

corresponding rectangles on Side-II of the Answer-Sheet

against the relevant question number by black/blue ball

pen only. Answers which are not shown by black/blue ball

pen will not be awarded any mark.

8. The Answer-Sheet must be handed over to the Invigilator

before you leave the Examination Hall.

9. Failure to comply with any of the above instructions will

render a candidate liable to such action/penalty as any be

deemed fit.

10. The manner in which the different questions are to be

answered has been explained in the OMR form which you

should read carefully before answering the questions.

11. Answer the questions as quickly and as carefully as you

can. Some questions may be difficult and others easy. Do

not spend too much time on any question.

12. No Rough Work is to be done on the Answer-Sheet. Space

for rough work has been provided at the back of the booklet.

1. This Booklet contains 100 questions in all comprising
the following three parts:
Reasoning
Mathematics
General Awareness
General Science

2. All questions are compulsory and carry one mark each.
3. Before you start to answer the questions you must check

up this Booklet and ensure that it contains all the pages
(1-10) and see that no page is missing or repeated. If you
find any defect in this Booklet, you must get it replaced
immediately.

4. For every wrong answer 0.33 marks will be deducted
from the correct answer.

5. You will be supplied the Answer-Sheet separately by
the Invigilator. You must complete the details of Ticket
Number, Roll Number and Test Form Number on Side-
I of the Answer-Sheet carefully before you actually start
answering the questions. You must also put your
signature on the Answer-Sheet at the prescribed place.
These instructions must be fully complied with, failing
 which your Answer-Sheet will not be evaluated and
you will be awarded ‘ZERO’ mark.
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1. In each question below are given
two/three statement followed by two
conclusion numbered I and II. you
have to take the given statements
to be true even if they seem to be at
variance with comonly known facts.
Read all the conclusions and then
decide which of the given
conclusions logically follows from
the given statements, disregarding
comonly known facts.

funsZ'k  : fn;s x, izR;sd iz’u esa nks dFku ,oa nks

fu”d”kZ I ,oa II fufgr gSA vkidks bu dFkuksa dks lR;

ekuuk gS] Hkys gh oks loZKkr rF;ksa ls fHkUu izrhr gksrs gSA

lHkh fu”d”kks± dks i<+s fiQj r; djsa fd lHkh nks dFkuksa

dks fuEufyf[kr dkSu ls fu”d”kZ rkfdZd :i ls vuqlj.k

djrs gSA

Statement/dFku
All horses are mammals
lHkh ?kksM+s Lruèkkjh gS]
No mammals are amphibians.
dksbZ Lruèkkjh mHk;pj ugha gSA
Conclusion/fu"d"kZ%&

  I. Some horses are amphibians./dqN ?kksM+s
mHk;pj gSA

  II. All horses are amphibians./lHkh ?kksM+s
mHk;pj gSA

 III.The amphibian is a horse./mHk;pj ,d
?kksM+k gSA

 IV. Amphibians are not horses./mHk;pj
?kksM+s ugha gSA
(A)Only I follows/osQoy I vuqlj.k djrk gS
(B)Only II follows/osQoy II vuqlj.k djrk gS
(C)Only III follows/osQoy III vuqlj.k djrk

gS
(D)Only IV follows/osQoy IV vuqlj.k djrk

gS
2. Select the odd one out from the

following?
fuEufyf[kr esa ls fo"ke dk p;u dhft,\
(A) Padkar/indkj
(B)Beaker/chdj
(C)Test tubeij[kuyh
(D)Dropper/Mªkij

3. 14 12 10 8

10 8 2 4

8 14 6 16

12 18 14 ?

(A)18 (B)10
(C)16 (D) 20

4. How many rectangles are there in
the given figure?
nh x;h vko`Qfr esa fdrus vk;r gS\

(A) 28 (B)36
(C)32 (D) 42

5. KOPT : AEFJ :: QUVZ : ?
(A)NRSW (B)GKLP
(C)PTUY (D) OSTX

6. 2,6,12,20,30,42,?
(A)50 (B)52
(C)60 (D) 56

7. If '+' is replaced by '+', '×' replaced
by '+', '–' replaced by '×' then the value

of  20+(5×7)–
9

6
?

;fn '+' dks '–' }kjk '×' dks '+' }kjk '–' dks '×' }kjk

izLFkkfir fd;k tkrk gSA rks 20+(5×7)–
9

6
 dk eku

Kkr dhft,\
(A) 15Z (B) 10
(C)2 (D)  8

8. Select the odd one out from the
following?
fuEufyf[kr esa ls fo"ke dk p;u dhft,\
(A) Kejriwal/osQtjhoky
(B) Nitish Kumar/fufr'k oqQekj
(C)Sukhwinder Singh Sukhu/lq[kfoanj

flag lqD[kq
(D)Aditya Nath Yogi/vkfnR; ukFk ;ksxh

9. If A is the brother of T, T is the
father of B and Q. Is the wife of. So
how is Q related to B?

;fn A, B dk HkkbZ gS B, C dk firk gS vkSj D, A dh
iRuh gSA rks D, C ls fdl izdkj lacafèkr gSA
(A)  Nephew/Hkrhtk
(B)  Niece/Hkrhth
(C) Uncle/pkpk
(D) Aunt/pkph

10. A and B can do a piece of work in
15, 20 and 25 days respectively. In
doing th and b work. How much less
time will it take?/A, B vkSj C ,d dk;Z dks
ozQe'k% 15] 20 vkSj 25 fnuksa esa dj ldrs gSA B vkSj C
dk;Z dks djus esa A ls fdruk de le; ysaxs\

(A)  
35

9
(B)

23

9

(C) 
32

9
(D)

33

9

11. If the mean is 40. And the standard
deviation is 5. So the coefficient of
variation is./;fn ekè; 40 gSA vkSj ekud fopyu
5 gSA rks fopj.k xq.kkad gSA
(A)  20% (B) 12.5%

(C) 100% (D) 5%
12. (4+2–16÷4+3)+{(1+8×7)÷19}×[(3+5–4)+

(17–9×4)]

(A) –40 (B) –225

(C)335 (D) 40

13. A car can cover a  certain distance

is 
1

5
2

 hr. If the speed is increased

by 6 km/hr. It would take 1/2 hours
less to cover the same distance.
Find the slower speed of the car.

,d dkj ,d fuf'pe nwjh dks 
1

5
2

 ?kaVs esa doj dj

ldrh gS] ;fn xfr 6 fdeh@?kaVk ls c<+dj tkrh gS- leku
nwjh r; djus esa 1/2 ?kaVs de le; yxsxk- dkj dh /
heh xfr dk irk yxk,a-

(A) 50 (B) 54

(C)60 (D) 85

14. What is the value of Cos1° Cos2°
Cos3° .........Cos179°/Cos1° Cos2°
Cos3° .........Cos179° dk eku D;k gSA
(A) 0 (B) 1

(C)
1

2
(D) –1

15. What is the value of Cos12°+
Cos84° + Cos168°+Cos96°/ Cos12°+
Cos84° + Cos168°+Cos96° dk eku D;k gSA
(A) 0 (B)  –1

(C)2 (D) 1

16. The base of an isosceles triangle is
8 cm and one of its equal sides is 5
cm. is the height of the apex opposite
the base./,d lef}ckgq f=kHkqt dk vkèkkj 8 lseh
vkSj mldh leku Hkqtkvksa esa ls ,d 5 lseh gSA vkèkkj ls
vkèkkj osQ foijhr 'kh"kZ dh mQ¡pkbZ gSA
(A) 2 (B) 3
(C) 4 (D) 5

Directions (17) : Study the following
information carefully and answer
the questions given below.
funsZ'k (17) : nh xbZ lwpuk dks è;kuiwoZd i<+s rFkk uhps
fn, x, iz'uksa dk mÙkj nsa%
K is mother of D and D is sister of J. G
is father of H. E is wife of G. J is son of
H.
K,D dh ek¡ gSA ,oa D, J  dh cgu gSA G, H dk firk gSA
E, G dh iRuh gSA J, H dk csVk gSA
17. How is D related to G?

D, G ls fdl izdkj lacfèkr gS?
(A)Son/iq=k
(B)Grandson/ikS=k
(C)Granddaughter/ikS=kh
(D) Daughter/iq=kh

18. Pointing towards a lady, a boy says,
"She is the daughter of the woman
who is the mother of the husband
of my mother." How is the lady
related to the boy?
,d efgyk dh vksj b'kkjk djrs gq,] ,d yM+dk dgrk
gS] ^^og ml efgyk dh csVh gS tks esjh eka ds ifr dh eka
gSA** efgyk yM+ds ls dSls lacaf/r gS\
(A)Granddaughter/iksrh
(B)Sister/cgu
(C)Cousin/dftu
(D) Aunt/vkaV

19. Find the missing (?) in the series
J`a[kyk esa yqIr (\) dk irk yxk,a
0, 3, 8, ?, 24, 35
(A)15 (B)18
(C)16 (D) 9

20. Find the missing (?) in the series
J`a[kyk esa yqIr (\) dk irk yxk,a
CD, HI, NO, UV, ?
(A) LM (B)NP
(C)CD (D) OP

21. If 'BKPG' is 'DNRJ', then 'CMOG'
is:
;fn 'BKPG' dks 'DNRJ' fy[kk tkrk gS, rks
'CMOG' dks dSls fyf[ksaxsa\
(A)DOQI (B)EPQJ
(C)EQPJ (D) EQJP

22. If 'TOAST' is '03210' and 'RIGID' is
'45759.
Then 'DOOR' is.
;fn 'TOAST' dks '03210' vkSj 'RIGID' dks
'45759.
rks 'DOOR' is dks fy[ksxsaA
(A) 9341 (B)6334
(C)9330 (D) 9334

23. If Hematology : Blood, then Phycology :
?
;fn gsekVksyksth : jDRk]  iQkbdkyksth : ?
(A)Amphibians/mHk;pj
(B)Secretions/L=kko

(C)Soil/e`nk
(D) Algae/'kSoky

24. Which signs should be interchange
if the equation below needs to be
true?/fuEufyf[kr iz'u dks lR;kfir djus ds fy,
dkSu ls fpUgksa dks ijLij cnyuk iM+sxk\
(16 – 4) × 6 ÷ 2 + 8 = 30
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(A) ÷ and/vkSj – (B)4 and/vkSj 2
(C)– and/vkSj + (D) 16 and/vkSj 6

25. Pointing towards a photo, Rakesh
said, "She is the daughter of the
only child of my grandfather". How
is girl related to Rakesh?
,d rLohj dh vksj b'kkjk djrs gq, jkds'k dgrk gS ^^og
esjs xzSaMiQknj ds bdykSrs larku dh iq=kh gSA** og yM+dh
jkds'k ls fdl izdkj lacaf/r gS\
(A)Sister/cgu
(B)Daughter/iq=kh
(C)Grand Daughter/xSzaM MkWVj
(D) Cousin/dftu

26. If in a code language 3456 = ROPE
and 15526 = APPLE then 54613 = ?
;fn fdl dwV Hkk"kk esa 3456 = ROPE vkSj 15526
= APPLE rks 54613 = ?
(A)RPPEO (B)ROPEA
(C)POEAR (D) PAREO

27. If the mathematical operator '+'
means '×', '÷' means '–', '–' means
'+' and '×' means '÷', then find the
value of 2 + 8 – 4 ÷ 6 × 3.
;fn xf.krh; fpUgksa '+' dk vFkZ '×', '÷' dk vFkZ '–',
'–' dk vFkZ '+' vkSj '×' dk vFkZ '÷' gS] rks 2 + 8 – 4
÷ 6 × 3 dk eku Kkr dhft,A
(A) 20 (B) –20
(C)16 (D) 18

Directions (28) : In each question
below a statement is given followed
by two courses of action numbered I
and II. A course of action is a
practicable and feasible step or
administrative decision to be taken
for follow-up, improvement or
further action in regard to the
problem, policy, etc.

On the basis of the information
given in the statement, you have to
assume everything in the statement
to be true and decide which of the
suggested courses of action
logically follow(s) for pursuing. Give
answer
funsZ'k (28): uhps fn;s x, iz'uksa esa ,d dFku ,oa nks
fØ;k fof/ I vkSj II ds :i esa vafdr gSA fØ;k&fof/ ,d
O;ogkfjd   ,oa laHko  dne vFkok iz'kkldh; fu.kZ; gS
tks leL;k] jkt'kklu uhfr bR;kfn dks è;ku esa j[kdj]
budh lqxerk
lqèkkj ;k vkxs dh dk;Zokgh ds fy, viuk;h tkrh gSA
fuEu dFkuksa esa nh xbZ lqpuk ds vk/kj ij vkidks dFkuksa
dks iw.kZr;k lR; ekurs gq, ;g fu'p; djuk gS fd dkSu lh
izLrkfor fØ;kfofèk] dFkuks dk rkfdZd :i ls vuqlj.k
djrh gS] viuk mÙkj nsa&

(A) only I follows/dsoy I vuqlj.k djrk gSA
(B) only II follows/dsoy II vuqlj.k djrk gSA
(C)either I or II follows/;k rks I ;k II

vuqlj.k djrk gSA
(D) neither I nor II follows/ u rks I vkSj

u gh II vuqlj.k djrk gSA
(E)both I and II follow/nksuksa I ,oa II vuqlj.k

djrs gSA
28. Statement/dFku :

Despite repeated warnings to
students and parents from the
college, some students have finally
not fulfilled the mandatory criteria
of 75% attendance in order to
appear for exams./Nk=kksa vkSj dkWyst ls ekrk&firk
dks dbZ ckj psrkouh ds ckotwn] dqN Nk=kksa us ijh{kk esa
mifLFkfr gksus ds fy, iznf'kZr 75» vfuok;Z mifLFkfr
ekunaMksa dks iwjk ugha fd;k gSA

Courses of Action/fØ;kfof/ :
I. The college should stop adhering

to this particular criteria.
dkWyst dks bl fo'ks"k ekunaM dk ikyu can dj nsuk
pkfg,A

II. Either the parents or guardians
of the defaulters should be
called for a meeting.

mYys?ku djus okyksa ds ;k rks ekrk&firk ;k muds laj{kd
adks cSBd ds fy, cqyk;k tkuk pkfg,A
(A) 5 (B) 2
(C)3 (D) 4

29. P men can do a work in q days. In
how many days r men can do the
same work?
P iq#"k ,d dk;Z dks q fnuks esa dj ldrs gSaA r iq#"k
leku dk;Z fdrus fnuksa esa dj dlrs gSa\
(A) pq/r (B) pr/q
(C)rq/p (D) prq

30. If 12 men and 16 boys can do a piece
of work in 5 days; 13 men and 24
boys can do it in 4 days, then the
ratio of daily work done by a man of
that of a boy is:
;fn 12 iq#"k vkSj 16 yM+ds fdlh dk;Z dks 5 fnuksa esa
dj ldrs gSaA 13 iq:"k vkSj 24 yM+ds bls 4 fnuksa esa
dj ldrs gS rks ,d vkneh vkSj ,d yM+ds }kjk fd;s x;s
nSfud dk;Z dk vuqikr D;k gS%
(A) 2 : 1 (B) 4 : 1
(C)3 : 1 (D) 4 : 5

31. Solve 107 × 103 ÷ 102.
107 × 103 ÷ 102 dks ljy dhft,A
(A) 108 (B) 106

(C)102 (D) 105

32. If the circumference of a square is
24 cm, find the area of the square.
;fn ,d oxZ dk ifjeki 24 lseh- gS] rks oxZ dk {ks=kiQy
Kkr dhft,A
(A) 38.5 sq. cm/oxZ lseh-
(B) 36 sq. cm/oxZ lseh-
(C)49 sq. cm/oxZ lseh-
(D) 72 sq. cm/oxZ lseh-

33. If 84 amount to Rs. 114.24 in 2
years what will be Rs. 96 amounts
to in 4 years at the same rate of
interest per annum
;fn nks o"kksZa esa 84 dh jkf'k] 114.24  #i;s gks tkrh gSA
rks leku C;kt nj ij pkj o"kksZas esa 96 #i;s dh jkf'k fdruh
gksxh\
(A) Rs. 137.6 (B) Rs. 160
(C)Rs. 155.12 (D) Rs. 165.12

34. The LCM and HCF of 2 numbers are
168 and 6 respectively. If one of the
number is 42, find the other.
nks la[;kvksa dk y-l-i- vkSj e-l-i- Øe'k 168 vkSj 6 gSA
;fn ,d la[;k 42 gS] rks nwljh la[;k Kkr dhft,A
(A) 36 (B) 38
(C)40 (D) 24

35. 150 books, 234 crayons and 288
notebooks were distributed to
school children equally. It was
found that 6 were left undistributed
in each. What was the total number
of children?
150 iqLrdsa] 234 Øs;kWu vkSj 288 dkWfi;k¡ Ldwy ds cPpksa
esa cjkcj ck¡Vh tkrh gSA ;g ik;k tkrk gS fd izR;sd esa 6
'ks"k jg tkrh gSA cPpksa dh dqy la[;k D;k Fkh\
(A) 18 (B) 8
(C)16 (D)12

Direction : (36 - 38): The given pie chart
shows the expenditure (in degrees)
incurred in making a book.
fn, x, ikbZ pkVZ esa iqLrd cukus esa gq, O;; (fMxzh esa) dks n'kkZ;k
gSA

Other/

15%
vU; Paper/

25%
dkxt

Binding/

33%
ftYnlkth
  

Printing/

27%
eqnz.k

36. What is the central angle (in
degrees) of the sector made by the
expenditure on Paper
dkxt ij O;; ls cus {ks=k dk dsanzh; dks.k (fMxzh ea) D;k
gS\
(A) 25 (B)75
(C)90 (D) 120

37. If expenditure on Paper is Rs.
20000, then what is the expenditure
(in Rs.) on Binding?
;fn dkxt ij [kpZ 20000 #i;s gS] rks ckbZ¯Mx ij
(#i;s esa) D;k [kpZ gS\
(A) 24600 (B)26400
(C)28000 (D) 22800

38. Solve:  
12 625 245

25 96 196
   = ?

ljys djs% 
12 625 245

25 96 196
  = ?

(A)
1

3
3

(B)
7

2
8

(C)
1

2
2

(D)
1

2
39. Find the value of (x – y)2 – (x + y)2.

(x – y)2 – (x + y)2 dk eku Kkr djsA
(A) 2x2y2 (B)4xy
(C)2x2 + 2y2 (D) – 4xy

40. Perimeter of semi-circle is 36 cm.
Find its diameter.
,d vèkZ o`r dk ifjeki 36 lseh- gSA bldk O;kl Kkr
dhft,A
(A) 14 cm/lseh- (B)21 cm/lseh-
(C)7 cm/lseh- (D)28 cm/lseh-

41. Who is the author of the book

Shilpadikaram?

f'kYikfndkje iqLrd ds ys[kd dkSu gS\
(A)Madhavi/ek/oh
(B)Kannagi/d..kfx
(C)Seetalaisatnar/lhrySlÙkukj
(D)Inlango/bayaxks

42. The famous book in Tamil literature is
Tolkappiyam, which describes the
eight types of marriage described in
Hindu scriptures. Which of these is

not?/rfey lkfgR; esa izfl¼ iqLrd rksYdkfi;e gS]
ftlesa fgUnw /eZ 'kkL=kksa esa of.kZr vkB izdkj ds fookg
dk o.kZu fd;k x;k gSA buesa ls dkSu ugha gSA

(A) Rakshasa marriage/jk{kl fookg

(B) Gandharva marriage/xU/oZ fookg
(C)Arsha marriage/vk"kZ fookg
(D)Exchange marriage/vnyk cnyh fookg

43. Who is the author of Devi Chandraguptam?/

nsoh pUnzxqIre~ ds ys[kd dkSu gS\
(A) Shudraka/'kwnzd
(B) Amarsingh/vejflag
(C)Visakhadutta/fo'kk[knÙk
(D)Singhvishnu/flagfo".k q

44. Which Chola ruler assumed the title

of 'Gangekondachola'?/fdl pksy 'kkld us
^xaxsdksaMpksy* dh mikf/ /kj.k fd;k Fkk\
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(A) Rajraj-I/jktjkt&I
(B) Kulontung/dqyksUrqax
(C)Rajendra-I/jktsUnz&I
(D)Rajendra-III/jktsUnz&III

45. By whom are the judges of the High

Court appointed?/mPp U;k;ky; ds U;k;k/h'k
fdlds }kjk fu;qÙkQ fd, tkrs gSa\
(A) Governor/jkT;iky
(B) Chief Justice of India/Hkkjr ds eq[;

U;k;k/h'k
(C)President of India/Hkkjr ds jk"Vªifr
(D)Prime Minister/ç/kuea=kh

46. The year of formation of Balwant Rai

Mehta Committee is-/cyoar jk; esgrk lfefr
dk xBu o"kZ gS&
(A) 1950 AD/1950 bZ- (B)1957 AD/1957 bZ-
(C)1986 AD/1986 bZ- (D)1980 AD/1980 bZ-

47. How many chapters are there in the Indian

Constitution?/Hkkjrh; lafo/ku esa fdrus Hkkx gSa\
(A) 4 (B) 16
(C) 22 (D) 12

48. Who was the first Home Minister of

independent India?/Lora=k Hkkjr ds çFke x`gea=kh
dkSu Fks\
(A) Jawaharlal Nehru/tokgjyky usg:
(B) Vallabhbhai Patel/oYyHkHkkbZ iVsy
(C)B.R. Ambedkar/chú vkjú vEcsMdj
(D)Sarojini Naidu/ljksftuh uk;Mw

49. Through which of the following group
of countries does the Equator pass?/
fuEufyf[kr esa fdu ns'kksa ds lewg ls Hkweè; js[kk xqtjrh gS\
(A) Brazil, Zambia and Malaysiaczkthy]

tkafc;k rFkk eysf'k;k
(B) Colombia, Kenya and Indonesia/

dksyafc;k] dsU;k rFkk baMksusf'k;k
(C)Brazil, Sudan and Malaysia/czkthy]

lwMku rFkk eysf'k;k
(D)Venezuela, Ethiopia and Indonesia/

osustq,yk] bFkksfi;k rFkk baMksusf'k;k
50. A very narrow strip of land connecting

two vast land areas is called/nk s fo'kky
Hkwfe ds {ks=kksa dks tksM+us okyk vR;ar ladjk Hkwfe dk iV~Vk
dgykrk gS&
(A) Bhu-Sindh/Hk w&flU/
(B) Strait/HkwMe:eè;
(C)Peninsula/izk;}hi
(D)Gulf/[kkM+h

51. The trees whose roots are less deep

are related to/ftu o`{kksa dh tM+s de xgjh gksrh gSa
mudk lEcU/ gS&
(A) Grassland climate/pkjkxkg tyok;q
(B) Temperate environment/climate/

'khrks".k okrkoj.k@tyok;q
(C)Tropical climate/m".k dfVcU/h; tyok;q
(D)Equatorial climate/Hkweè; js[kh; tyok;q

52. The longest mountain range in the

world is-/fo'o dh lcls yEch ioZr J`a[kyk gS&
(A) Himalaya/fgeky;
(B) Andes/,UMht
(C)Karakoram/dkjkdksje
(D)Ural Mountains/mjy ioZr

53. Which of the following combination of
Traditional Sports – State is wrong?/
ikjaifjd [ksy & jkT; dk fuEu esa ls dkSu lk ;qXe xyr gS\
(A) Thangata - Manipur/FkkaxVk & ef.kiqj
(B) Silambam - Madhya Pradesh/flykEce

& eè; izns'k
(C)Mukna - Manipur/eqduk & ef.kiqj
(D)Gatka - Punjab/xrdk & iatkc

54. India's National Sports Day is
celebrated every year on 29 August in
honor of which player?/Hkkjr dk jk"Vªh; [ksy
fnol izfro"kZ 29 vxLr dks fdl f[kykM+h ds lEeku esa
euk;k tkrk gS\
(A) Balbir Singh Sr./cychj flag lhfu;j
(B) Milkha Singh/feY[kk flag

(C)Leslie Walter Claudius/ysLyh okYVj
DykWfM;l

(D)Major Dhyanchand Singh/estj è;kupan
flag

55. Computer chips are made of which
metal?/dEI;wVj fpIl fdl /krq ls cus gksrs gSa\
(A) Silicon/flfydk Wu
(B) Silver/flYoj
(C)Iron oxide/vk;ju vkDlkbM
(D)Chromium/Øksfe;e

56. When was FCI established?/,iQ-lh-vkbZ-
dh LFkkiuk dc gqbZ\
(A) 1961 (B) 1962
(C)1964 (D) 1965

57. The first state to implement GST law
is:/th,lVh dk dkuwu ykxw djus okyk igyk jkT; gS%
(A) Tamil Nadu/rfeyukMq
(B) Delhi/fnYyh
(C)Assam/vle
(D)Maharashtra/egkjk"Vª

58. fdlku dkWy lsUVj dc cuk;k x;k\@When was
the Kisan Call Center created?
(A) July 2000/tqykbZ 2000
(B) March 2002/ekpZ 2002
(C)March 2004/ekpZ 2004
(D)January 2004/tuojh 2004

59. The original name of which plant is
Graminaceae?/fdl ikS/s dk ewy uke xzsehuslh gS\
(A) Garlic/yglqu (B) Onion/I;kt
(C)Betel nut/lqikjh (D)Corn/eDdk

60. Which is the hormone which stops
the growth of plants?/og dkSu&lk gkeksZu
gS] tks ikS/ksa dh o`f¼ dks jksdrk gS\
(A) Abscisic/,cflfld
(B) Ethylene/,fFkyhu
(C)Gibberellins/ftcjsfyal
(D)Cytokinin/lkbVksdkbfuu

61. Which organism is not of
celenterata group?/lhys.VªsVk xzqi dk dkSu&lk
tho ughs gS\
(A) Jellyfish/tsyhfiQ'k
(B) Sea Anemone/lh ,uheksu
(C)Wuchereria/oqpjsfj;k
(D)Hydra/gkbMªk

62. Heparin is a type of protein, which
prevents blood from clotting. In
which part of the body is it formed?/
fgiSfju ,d izdkj dk izksVhu gS] tks jDr dks teus ls
jksdrk gSA ;g 'kjhj ds fdl vax esa curk gS\
(A) Stomach/vek'k;
(B) Liver/;o`Qr
(C)Kidney/fdMuh
(D)None of these/buesa ls dksbZ ugha

63. Thalamus is a major part of the brain.
whose main function is not/FkSyel efLr"d
dk izeq[k fgLlk gSA ftldk izeq[k dk;Z ugha gS
(A) Pain/nnZ (B) Cold/B.Mk
(C)Hot/xeZ (D) Hungry/Hkw[k

64. How many bones are there in the
face?/psgjs esa gfM~M;ksa dh la[;k gksrh gS&
(A) 8 (B) 6
(C)14 (D) 24

65. Which is the hormone which maintains
water balance in the body?/og dkSu&lk gkeksZu
gS] tks 'kjhj esa ty larqyu dks cuk;s j[krk gS\

(A) LHC luteinizing hormone/LHC
(yqVsfUtax gkeksZu)

(B) ADH hormones/ADH gkeksZu

(C)LTH hormone/LTH gkeksZu

(D)FSH hormone/FSH gkeksZu
66. Which of the following is not a major

function of carbohydrates?/fuEufyf[kr esa
ls ,d dkcksZgkbMªsV ds izeq[k dk;Z ugha gS\
(A) Manufacture of Vitamin B/foVkfeu

C dk fuekZ.k
(B) Formation of nucleic acids/U;wfDyd

vEyksa dk fuekZ.k

(C)Formation of external skeleton/
cká dadky dk fuekZ.k

(D)Physical growth/'kkjhfjd o`f¼
67. Consider the following statements./

fuEufyf[kr dFkuksa ij fopkj dhft,A
1. Rio +5 was held in Johannesburg

(Africa) in 1997./fj;ks $5 dk vk;kstu

1997AD esa tksgkUlcxZ (vÚhdk) esa gqvk FkkA
2. Rio +20 was held in New York in

2012./fj;ks $20 dk vk;kstu 2012 AD esa vk;kstu
U;w;kdZ esa gqvk FkkA

(A)Only statement 1 is correct./dsoy
dFku 1 lgh gSA

(B)Only statement 2 is correct./dsoy
dFku 2 lgh gSA

(C)Both statement 1 and 2 are
correct./dFku 1 vkSj 2 nksuksa lgh gSA

(D)Neither 1 nor 2 is correct./u rks 1
vkSj u rks 2 lgh gSA

68. Which one of the following devices
is non-ohmic?/fuEufyf•r esa ls dkSu lk
midj.k xSj&vksfed gS\
(A)Conducting copper coil/rkacs dk rkj dk

lapkyu
(B)Electric heating coil/bysfDVªd ghfVax dkWby
(C)Semi-conductors diode/lseh&daMDVj Mk;ksM
(D)Rheostat/fjvksLVsV

69. Which one of the following is the
natural phenomenon based on
which a simple periscope works?/
fuEufyf•r esa ls dkSu lh og çkÑfrd ?kVuk gS ftlds
vkèkkj ij ,d lk/kj.k isfjLdksi dke djrk gS\
(A)Reflection of light/çdk'k dk çfrfcac
(B)Refraction of light/çdk'k dk viorZu
(C)Dispersion of light/çdk'k dk iQSyko
(D)Total internal reflection of light/

çdk'k dk iw.kZ vkarfjd çfrfcac
70. A ball balanced on a vertical rod is

on example of :/,d ÅèokZ/j NM+ ij larqfyr
xsan dk mnkgj.k gS%
(A)Stable equilibrium/fLFkj larqyu
(B)Unstable equilibrium/vfLFkj larqyu
(C)Neutral equilibrium/rVLFk larqyu
(D)Perflect equilibrium/larqyu LFkkfir djsa

71. Tell what happens in ALU and CPU?/

ALU vkSj CPU esa gksrk crkb;s\
(A) Byte space/ckbV Lisl
(B) Register/jftLVj
(C) RAM/Lisl
(D) All of these/buesa lHkh

72. A Century is Not Enough fdlus fy[kh\
(A) Sourav Ganguly/lkSjo xkaxqyh
(B) Sachin Tendulkar/lfpu rasnqydj
(C)M.S. Dhoni/,e-,l-/ksuh
(D)Virat Kohli/fojkV dksgyh

73. Who has written the book ‘Social
Harmony’?/^lks'ky gkeZuh* uked iqLrd fdlus fy[kh gS\
(A) Lal Krishna Advani/yky Ñ".k vkMok.kh
(B) Narendra Modi/ujsanz eksnh
(C)Shyama Prasad Mukherjee/';kek izlkn

eq[kthZ
(D)Atal Bihari Vajpayee/vVy fcgkjh oktis;h

74. Two bulbs have ratings 100 W, 220 V
and 60 W, 220 V respectively. Which
one has a greatest resistance? / nks cYcksa
dh jsfVax Øe'k% 100 W, 220 V vkSj 60 W,

220 V gSA fdldk çfrjks/ lcls vf/d gS\
(A) 100 W (B) 60 W
(C) information (D) Both have same

75. A ball is dropped from a certain
height. It took the ball 15 seconds to
reach the ground. What is the height
at which the ball was initially./,d xsan
dks ,d fuf'pr Å¡pkbZ ls fxjk;k tkrk gSA xsan dks
xzkmaM rd igqapus esa 15 lsdaM dk le; yxkA xsan
çkjaHk esa fdruh ÅapkbZ ij Fkh\
[Tobi, g = (10m/s²)
(A) 1025 m (B) 1125 m

(C) 1225 m (D) 900 m


